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(BERLIE, kg/km2/30H)

THEES (R No.1)

L 3iE8 (1R No.2)

B4 (R No.3)

SEAER (1R No.4)

BHHA (#R No.5)

HH T35 T AIE SE T35 T AIE SE T35 T AIE SE T35 T AIE SE T8 T AIE 5H
H12.12.26~H13.1.24 Réf'gz_; Réﬁﬁ; H12.12.26~H13.1.24 Réf'gz_; Réﬁﬁ; H12.12.26~H13.1.24 Réf'gz_; Réﬁﬁ; H12.12.26~H13.1.24 Réf'gz_; Réﬁﬁ; H12.12.26~H13.1.24 Réf'gz_; Réﬁﬁ;

Ry 2%
ARIT L 2 2 2 2 2 2 2 2 2 2 2 2 2 PEST) 2
BTV 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8
£ 2 PEST) PEST) 2 2 PEST) 2 2 PEST) 2 PEST) 2 2 2 PEST)
=3 0.8 0.8 0.8 0.8 0.8 0.8 0.8 0.8 0.8 0.8 0.8 0.8 0.8t 0.8t 0.8t
kR 0054 0.05A4if§ 0054 0.05Ajif§ 0.05Ajif§ 0054 0.05A4if§ 0.05A4if§ 0054 0.05A4if§ 0.05Ajif§ 0054 0.05A4if§ 0.05A4if§ 0054
L 0.8t 0.8 0.8l 0.8 0.8 0.8 0.8 0.8 0.8 0.8 0.8t 0.8t 0.8t 0.8t 0.8t
kil AT 54 4R AT 6 4R AT 6 4R AT 5 4R AT 12 4R
Bkl AT 140 4R AT 7 4R 9.8 4R ARG AATi 4 4R AT 6 4R
&k 8 4R 4R 7 4R 4R 13 4R 4R 6 4R 4R 4 4R 4R
~ v A 4R 4R A 4R 4R A 4R 4R A 4R 4R A 4R 4R
Eo4=FN A 4R 4R AA 4R 4R A 4R 4R A 4R 4R A 4R 4R
=V AA 4R 4R A 4R 4R A 4R 4R A 4R 4R A 4R 4R
FRIT L 69 450 42 190 340 58 150 230 59 77 230 51 47 240 56
FDI/EN 40Aiti 230 ST EOEST 680 44 40Aiti EOEST| 404t EOEST 404t 404 404l 1100 404t
TN I 43 10 404 65 560 58 65 EOEST| 52 418 404t 404 32 200 4047
RTXVT L 11 54 4047 28 190 404t 25 EOEST 40l 17 EOEST 404l 1045 110 S
[R5 ]
HRIT L 0084 0084 008 0.08Ajif§ 0.08Ajif§ 008 0.08Ajif§ 0.08Ajif§ 008 0.08Ajif§ 0084 008 0.08Ajif§ 0.08Ajif§ 008
k) 0084 0.08Ajif§ 008 0.08Ajif§ 0.08Ajif§ 008 0.44 0.08Ajif§ 008 0.08Ajif§ 0.08Ajif§ 0084 0.08Ajif§ 0.26 0084
=3 0084 0084 0084 0.08Ajif§ 0.08Ajif§ 008 0.08Ajif§ 0.08Ajif§ 008 0.08Ajif§ 0.08Ajif§ 008 0.08Ajif§ 0.08Ajif§ 0084
kR 0054 0.05A4if§ 0054 0.05A4if§ 0.05Ajif§ 0054 0.05A4if§ 0.05A4if§ 0054 0.05A4if§ 0.05Ajif§ 0054 0.05A4if§ 0.05Ajif§ 0054
L 0.08Ajif§ 0.08Ajif§ 0084 0.08Ajif§ 0.08Ajif§ 0084 0.08Ajif§ 0.08jif§ 0084 0.08jif§ 0.08Ajif§ 008 0.08Ajif§ 0.08Ajif§ 008
kil 0.4 7.8 (=T} (RESE] 1.9 0.4t 0.54 (=T} 0.4 (RESE] 0.4 0.5 0.44if5 8.2 0.4t
BixzAl 0.6 2.9 (REST} 0.7 (REST} 0.4 1.4 (=T} 0.4 0.5 (RE ST} 0.4 0.4 1.7 (REST}
# 180 2.2 8.6 160 5.4 8.8 170 2.8 17 120 0.8 14 80 3.2 4.2
< A 2 (=T} 0.4 1.9 0.4 0.4t 2.1 (REST} 0.5 1.4 (=T} 0.4 0.9 2.3 (REST}
VAN 0.4 0.4 0.4 (RES] 0.4 0.4 (RESE] 0.4 0.4 0.6 (REST} 0.4 0.4 0.4 (REST}
=y 0.4 0.4 0.4 (RESE] 0.4 0.4 (RESE] 0.4 0.4 (RESE] (REST} (REST} 0.4t (REST} (=S}
TR 28 1045 IS} 27 1045 1O 40 105 L0 19 10 1O 13 10 1O
FDI/EN 14 105 1O 13 10 L0 24 105 L0 105 10 1O 15 44 1O
TN I 61 105 1O 51 13 1O 49 10 1O 32 105 1O 23 418 1O
RTXVT L 44 105 L0 38 105 1O 35 1045 1O 24 1045 L0 15 21 1O




